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N dyn kgf Pa-s cP P
1 1x10° 1.019 72x10°" #h 1 1x10° 1x10
h 1x10° 1 1.019 72x10® =1 1x10°% 1 1X102
9.806 65 9.806 65%x10° 1 1x10" 1Xx102 1
) 1P=1dyn-s/cm2=1g/cm - s
1Pa-s=1N-s/m?, 1cP=TmPa-s
PaX[EN/m? [MPaX[EN/mm?|  kgf/mm? kgf/cm? 8 m¥/s cSt St
1 1Xx10° 1.019 72x107 1.019 72x10° 1 1X10°8 1x104
i 1x108 1 1.019 72x10" 1.019 72X10 *a 1x10°% 1 1x10?
7 9.806 65x10° | 9.806 65 1 1X102 B 1xX104 1X10? 1
9.806 65%104 | 9.806 65102 1x102 1 F) 1St=1cm?s, 1cSt=1mm?S
) 1Pa=1N/m2, 1Mpa=1N/mm?2
Pa kPa MPa bar kgf/cm? atm mmHz0 |mmHgXI[3 Torr
1 1108 1x10¢ 1X10° | 1.01972x10° | 9.86923x10° | 1.01972x10"" | 7.500 62x10-°
1X103 1 1X103 1x102 | 1.01972%x102 9.869 23x10° | 1.019 72x102 7.500 62
£ 1X10° 1x103 1 1X10 1.019 72X10 9.869 23 1.019 72x10° 7.500 62x10°
sl 1x10° 1x102 1X10" 1 1.019 72 9.869 23x10" | 1.01972x10* | 7.500 62x102
9.806 65x10* | 9.806 65X10 9.806 65x102 9.806 65%10°" 1 9.678 41x10°" 1X104 7.355 59%102
1.01325%10° | 1.013 25%10? 1.013 25X10°" 1.013 25 1.033 23 1 1.033 23x10* | 7.600 00x102
9.806 65 9.806 65x10° | 9.806 65x10° | 9.806 65x10° 1X104 | 9678 41x10° 1 7.355 59x102
1.333 22x102 | 1.33322x10°" 1.333 22x10* 1.33322x10 | 1.359 51x10°® 1.31579x10° | 1.359 51x10 1
£ 1Pa=1N/m?2
=+ J kW - h kegf - m kcal 3, W/(m - K) | kcal/(h-m-C)
? 1 2,777 78x107 1.019 72x10" 2.388 89x104 f%é 1 8.600 0X101
J*b 3600 x10© 1 3.670 98x10° 8.600 0x102 = 1.162 79 1
T 9.806 65 2724 07x10 1 2.342 70103
8| 418605x10° | 11627910 | 426858x10° 1 # [ W/(m2: K) |keal/(h-m?-C)
: & 1 8600 0x10"
F) 1J=1W-s, 1J=1N-m }% :
| 116279 1
% W kef - m/s PS kcal/h S
| 1 101972x10" | 1359 62x10° | 8600 0 X10" » J/kg - K| EaUET o>
—~ -4
= 980665 1 133333x102 | 843371 £ ! 2386 89x10
e 3
% 7.355 X102 75 x10 1 6.325 29x102 G 1
f*% 1.162 79 1.18572x10" | 1.580 95102 1
F) TW=1J/s. PS : 1LEH
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